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Derive and

a. Explain of orbits from
b. Derive lain Long-range Ballistip

general solution to BodyProblern

with figure.
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(10 Marks)

lar components. (10 Marks)

(20 Marks)

(10 Marks)
(10 Marks)
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at least TWO
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Giffiynchronous satellites W ffid

ii\ Srrn smehrnnons safellites* ffi;Wiil Sun synchronous satellitery 
* 

ffi&W ffi- (10 Marks)

f.xnlain Hohmann transfefurbits. #;&# (10 Marks)b. Explain Hohmann trans&&;bits. 4W W (10 Marks)

ruv ^* *t Ed
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Describe the classifi&tion of Rocket
So lid oropettan#&gvbrid propellapioiia ptop.[a#@nybrid propettaffiet ensines- @S

Explain *it@t sketch Liquid propellant,

reines. ffiffiM\r (20 Marks)

M'" *&rru \d

What do you-understand by speciffiflrbation methqlf (06 Marks)

A sate[i(i$in a cir.cu]ar lr6lryq+oo km attrtudpffiatellite,has_*"qitr1:lT:.:{:_T

Write sho{ ffir on:

a. Manned afftftgninanned space ffision
b. Life support $ystem for mqurd space mission

c. Selection of material foreqpcraft (20 Marks)
f,roY\ss s\ds ****:r

b. A satellite iS"in a circular orbitT&400 km attitudq.qlffsatetltte has cylmcrrcat snape oI zm

in diffi&and 4m in lene1ffiftrta mass of 1000ffi.'The satellite is travelling with its long

;ir ffiffirdicular to the#relryrty vector and Qa 
YZ.AI. Calculate the perturbation due to

atmpsphiric drag and qffie its life time*k (14 Marks)

'\ *W 'h \

, g ffi*hin StagintHF#s, PerformanrEffilirgle stage Rocket with necessary equations.' fu"#' ' &*re d I (20 Marks)"rue",P -\8 Writeshogftflon: . ffi
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